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( Na,S,0, * 5H,0)
( Hypo ) o o
S,05" SO;”
S
S,0:7  SO;” . S,05°
S +2 S
S +6 -2
1 ®s
Na,SO, Na,S,0; .
Na,S,0,
S0, o

( ) o

A.

B. Na,S,0,

C. NaS5,0,

D. Na,S, 0,

S,05” +2H"=—=H,0

+S] +S0,1 .

Na,$S,0, *S Na, SO,
S -2 o AC.

(1)

Na,S, 0, N

o

Na,S,0, +2HCl ==2NaCl + H,0 +S | +S0, 1

Na,$,0, +2C0, + H,0 —

2NaHCO, +S | +S0,

2Na,$,0, + 0, =—=2Na,S0, +28 |

Na,S,0, —Na,S0, +S |
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2 pH=1

( ) o

A.Na" K*.S*".Cl"

B. AI’* \Mg** .S0; ™ .Cl~
C.Na”" K".NO; .AlO,
D.Na®.K*.S0; .S,0:"

A0,

AP* 8,0%"

s H,S

1S,057 +

2H*==H,0+S | +50, 1 B.

(2)

Na,$,0,

o

-2 S

: Na,S,0, +4Cl, +

5H,0 ==2H,50, +2NaCl + 6HCl.

3

25.0 mL 0. 100 mol * L Na,S,0,

224 mL(
5,02 (
A. S
C.S0%"

S0,
(3)

Na, Ag(S,0;),

Ag”
Na,S

ST =—=Ag,S | -

) Cl, cl-
) o
B.S

D.S0:"

4 mol 4

: AgBr +2Na,S,0, ==NaBr +

o

Na, Ag(S,0;), AgBr
)
Na,S
Ag,S 2Ag" +
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Ag” o
4
( )
( ) o
A.
B. Na, Ag(S,0,),
C. Ag( S203) 2 i
D. Na,S
A o
Na, Ag(S,0,),
B o
Ag” C o Na,S
Ag,S
2Ag" +STT=——=Ag,S | .
Ag” . D o
Na,SO, + S
==Na,5,0, N
Na,S,0, * 5H,0 o
5
1 o 1 A B CD
j
D)
1
(1) 1 .
(2) B .
(3) D .
C D S Na, SO,

2H,S + SO, ==3S | +
SO, D Na,S0,
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1 FeS+2HCI FeCl, + H,S T .
1,
1, +28,05°

=—=21" +5,0; .

6

40 mg ~ 50 mg o
428 ¢ o

0.030 mol/L

18.00 mL o

o

10; +51° +6H"—3I, +3H,0
I, +2S8,05" —21~ +S,0;"

I, +258,05" —21~ +S,0;"
: n(1,) =0.03 x18/1000 x 1/2
=0.27 x 10 *('mol)

10, +51° +6H"—>3I, +3H,0
n( KIO,) =0.27 x10 7 x1/3
=0.09 x 10 ~*( mol)

KIO,
(214 x0.09 x 10 ~* /428) x 100
=45 x 10 7(g) =45( mg)

7 Na,S,0,

. Na,$,0; * SH,0

A
Na,SO;( aq) +8S(s) ==Na,S,0,( aq)
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80 mL
o 5¢g
3 mL
@ ( 2
)
60 o
®

(2) o« -
(3) Na,SO,
(4) o
II.

Wg

0. 1000 mol * L™'I,

o

28,0°7 +1, ==S,00" + il

21° 3
(5)
(6)
I, ~ mLo
( Na,S,0, «5H,0 M)
IM. Na,S,0,
(7) Na,S,0,
Na, SO,

(1)
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(2) a
(3) Na, SO,
Na, SO, Na, SO, ;
Na, SO, S0;~
S0:-
(4)
Na,S,0,
:2H" +S,05" ==S | +S0, 1 +H,0 .
(5) 1,
(6) 0.00 mL
18. 10 mL I, :18. 10 ml -
0.00 mL = 18. 10 mL; 2Na,S,0, * 5H,0 ~

28,037 ~1, :n(Na,S,0, *5H,0) =2n(l,) =
2x0.100 0 mol « .7' x18.10 x 10 L. =3. 620 x

10~ mol
-3
w = 3.620 x 10 ™" mol x M g/mol % 100% =
We
-3
3.620)&710 MXIOO%O

(7)8,0° S02° Cl, cl
S,0%7 +4Cl, —2S802~ +8Cl-

S,0%" +4Cl, +5H,0 ——
250%" +8C1~ +10H"
(1)
(2)
(3) Na,SO,
BaCl,
Na, S0,
(4)S8,00” +2H"=—=S | +S0, T +H,0

(5)
-3
(6)18. 10 WNOO%

(7) 8,02 +4Cl, +5H,0 —
280" +8Cl™ +10H"
( 12014 -07 - 15)



